
 

Handle for Moderator
#55393

Assembly Instructions:

Tools Required:
4mm Hex wrench (included)

Before you begin, please make sure all parts and proper quantities are 
included.  Any parts damaged during shipment must be reported within 
15 days of receipt.  To report information regarding damages or if you 
have any questions, please call 1-800-235-1262.

Attaching Handle

A.  Align the handle with the mounting holes.  Figure 1.
B. Install (4) 1/4-20 x 15mm JC bolts and tighten securely.

To purchase parts or accessories, please contact us at
www.spectrumfurniture.com

1-800-235-1262
Thank you for choosing Spectrum products!

(4) 052605
1/4-20 x 15mm JC Bolts

(1) 025039
4mm Hex wrench

0109963X Page 1 of 1

Handle for Moderator
#55393

Assembly Instructions:

Tools Required:
4mm Hex wrench (included)

Before you begin, please make sure all parts and proper quantities are 
included.  Any parts damaged during shipment must be reported within 
15 days of receipt.  To report information regarding damages or if you 
have any questions, please call 1-800-235-1262.

Attaching Handle

A.  Align the handle with the mounting holes.  Figure 1.
B. Install (4) 1/4-20 x 15mm JC bolts and tighten securely.

Figure 1

To purchase parts or accessories, please contact us at
www.spectrumfurniture.com

1-800-235-1262
Thank you for choosing Spectrum products!

(4) 052605
1/4-20 x 15mm JC Bolts

(1) 025039
4mm Hex wrench

1/4-20 x 15mm JC Bolts
(4 req'd)

Handle

IHW
Touchboards_stamp

http://www.touchboards.com/

